
There are 6 eggs in half a dozen. Jimmy bought 4 half-dozen cartons of eggs. How many eggs 
did Jimmy buy?

Robin made 3 hexagons using sticks. If she used one stick for each side, how many sticks did 
she use?

Sally used 6 rows of tiles with each row containing 6 tiles to cover a square. How many tiles did 
Sally use?

6 x tables

There are 6 students in each group. If there are 5 groups, how many students altogether?

A fly has 6 legs. How many legs do 7 flies have altogether?

Each lap of a course is 6 km. Harry completed 8 laps of the course. How far did Harry run?

There are 6 competitors in each heat. If there are 10 heats, how many competitors altogether?

There are 6 tomatoes in each basket. How many tomatoes in 8 baskets?

What number is needed to make this sentence true?       3   x  4 is the same as  _______  x  6

A carton of milk fills 6 cups. How many cups can be filled using 5 cartons?
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